World History II		2015-2016
Unit 2: The Reformation
Lesson 6
I. Introduction
A. Objective:  The Reformation in Germany
B. SOL WHII.3b and c
C. [bookmark: _GoBack]Do Now:  Based on the essay that you’ve already started (due Thursday!!), what do you think is the greatest consequence of the printing press?  Write your answer on the board!  Then record what is on the board below.



II. The Holy Roman Empire
A. Brief

III. Lutheranism
A. Martin Luther
B. 1555

IV. The Thirty Years’ War
A. 1618-1648
B. Religious Motive
C. Political Motive
D. Peace of Westphalia

V. Conclusion
A. Religious tolerance was slow, but happening.
B. Individualism grew and strengthened:
C. Secularism grew and strengthened:

	Key Terms, Concepts, Events, People, and Places:

	Holy Roman Empire
	Hapsburgs
	Lutheranism
	Thirty Years’ War

	Cardinal Richelieu
	Peace of Westphalia
	Individualism
	Secularism

	Questions to Consider:

	1. Describe the development of the Holy Roman Empire as it existed in the 15th century.  Include religions.
2. Explain three reasons why following Luther was appealing to the German states.
3. Why did the Thirty Years’ War begin?  How did it end?  Discuss two religious settlements and three political settlements to the peace.



